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Homework II    PH112     CHJ 
 
Solutions for Chapter 13, Problems: 5, 19 
Solutions for Chapter 14, Problems: 6, 11, 16, 45 
 
13-5.  a)  
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13-5.  b) 
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13-19 a) 
  

 L∆ = 0   Iw = 0.300kg ⋅ m2  Is  = 2.00kg ⋅ m2 
 ωw = 18.8 rad/s Iwωw k̂  + Isωs = 0 
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14-6.  

 
 T = 5.00s  A = 30.0cm 
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14-11. 
 

 x(t) = (20.0cm)cos 
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14-16. a) x(t) = (5.00cm) cos 
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x(0.0) = x0 = 4.62cm 

v(t) = -(120.cm/s)sin 
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v(0.0) = v0 = +45.9cm/s 
scmAv /.120max == ω  
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 t = 6.00 x 10-2s 
 
 This is the first time after t = 0 at which the mass is at x = +2.50cm 
 
 

  v(t) = -Aωsin(ωt + φ)  v(0.060s) = -104 cm/s 
 
 a(t) = -Aω2cos(ωt + φ) = -ω2x 

 a(0.060s) = - 103cm/s2 x 1.44-  )50.2(0.24
2

=+




 cm

s
rad

 

 
14-45.  a) mv0 = (m + M)v 
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